(@

Worms alive (%)

Figure S2

[l sta-1(RNAi) [l] dcar-1(RNAI) [T akir-1(RNAi)

nlp-27 nlp-28 nlp-29
3.0 2.0 15.0 -
S 254
2 1.5 -
S 207 10.0 1
2 15 1.0 -
B 1.0 A
(e} 0.5 - 5.0 1
L 0.5 A
0.0 - 0.0 -
0.0 -
1 2 3 1 2 3 1 2 3
nlp-30 nilp-31 nip-34
20.0 1 35.0 1 50.0 1
S 30.0 A
9 40.0 A
g 15.0 - 25.0 1 00
] 30.0 A
_E 10.0 - 20.0
(@] 50 p 10.0 A |
L 50 A 10.0
0.0 - 0.0 0.0
1 2 3 1 2 3 1 2 3
Experiment Experiment Experiment
100 -¢—o———— — — sta-1(RNAI)
= akir-1(RNAI)
80 -
60 -
40 -
20 -
O L] L] L] L]
0 100 200 300 400 500
Time (h)



